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What is this quately lat It//sinG?
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Area oftrugle : Labsint

Hll1I51Isint is the over of theposttelopers
spanned by a al

5

.



Langular analog of force)
Application : Torque

F
lever

·
T

↳ no torque.

⑳

↑
nut

·not so

much-

-

·
By definition : E = EXF (Nm) (ftlb)

↑
torque of F at P

.



Observe : If E is parallel to ExF=

= zeo torgue.

Torque is a mector
.
Its direction uncodes

axis of rotation
. Its length is the sizeof

the urler force .

So
,
how long is

E ?
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maximized at
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I
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F = 100 (cos70o* + sinToot

= = 0.
3

xE = 0
.3 . 100 . [x (cosT0 + a 0°)

= 30(0 + sin700k)

1
= 30 · sin 700k

= 28
.
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D

Convention : ⑧ Q
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Scalar triple product

c . (ax5)

1) It's a number,

2) c = &
,
its 0 , c = To

,
its O

3) what ifI is peop to axt?

=>

2
C . (ax) =

↑
-

11511llx5)) = rol.

-> It's positive if
-

A ( ,
5,) one

right handed
,

4) IfI is in place spared, it's 0. (volume



5) geneal case

Fir
->

_

faxlext
↑
& 1211

IE11 cost

It's asam the one of parable piped.


